AP - §t QRIS YaTd®- SFREUT AHI-®H)
TECHNICIAN - B (CHEMICAL OPERATOR - MAINTENANCE MECHANIC)
UE |WAT / POST NO. 1421

T9HAT T THIHTS Jee ... ¢/The Sl unit of temperature is
(A) °C
(B) sfeast/Kelvin
(C) wrietgrse/Fahrenheit
(D) &arr/Calorie

d = & U Yool IMelF Aordl IHTARSP 9 P 3Ted S R, AT T T ... gl
For a thin spherical shell of diameter d subjected to internal pressure p, the thickness of the shell is

(A) 4pd/o
(B) pd/26
(C) pd/do
(D) 4o/pd

§-HE & & S T ISl Ao & Ty gafad foear Ser g
The pipes which are buried in the earth should be joined with

(A) fesiic wg dfehe @f/Spigot and socket joint
(B) @gea @fa/Union joint

(C) gewrs @fer/Coupler joint

(D) feeger wfar/Nipple joint

sitfas ufr e a#mor g fGer gt g, 38 ... Fed Bl
Physical quantity which has both magnitude and direction is called

(A)afeer/Vector

(B) 3tfeer/Scalar

(C) gfre/Unit

(D)s=#1 & =g & wgi/None of these



5. IS FI GeTATA Telcd ... g/Mass density of tungsten is :

(A) 11400 kg/m?®
(B) 19300 g/cm?
(C) 19300 kg/m?®
(D) 11400 g/cm®

6. T H IRTdT & &I F ... g oar g/Rate of change of velocity is known as
(A) arer/Speed
(B) a1/Velocity
(C) cazur/Acceleration

(D) stsca/Inertia

7. Teh ST dR & SIRT 31.4KN &I &l 39 33T 81 ATk wgeTad M HT Ial o@u 3R ar H
gfaser 100N/mm%d sarer =187 g &7?

A load of 31.4KN is to be raised by means of a steel wire. Find the minimum diameter required, if
the stress in the wire is not to exceed 100N/mm?

(A) 20 fAfaHAT/mm
(B) 10 fafasier/mm
(C) 8 fAfa#eT/mm
(D) 4 fAfa#eT/mm

8. TG WA & 37e gfdeer, fapfa &1 segehargard g1 I8 f@ga ... g
“Within the elastic limit stress is directly proportional to strain”, This law is

(A) g% @1 fF@#/Hook’s law

(B) =ge=1 & faga/Newton’s Law
(C) 3ire &1 fagaA/Ohm’s Law

(D) are¥ &1 fa=#/Charles Law



Teh Uil A & oFNAR Raelh & el & o &1 gl ... Heollehl g
The centre to centre distance between two consecutive rivets in a row is called

(A) fra/Pitch

(B) 3rst @ms+1/Gauge line

(C) fawuft fa/Diagonal pitch
(D) s Ta/Back pitch

ST H ... GaRT a9 & 3RO giar g/Heat is transferred through water by

(A) fafezor/Radiation
(B) arerst/Conduction
(C) "ags1/Convection
(D) wehroTs1/Scattering

T Wz F ady gfdsd ... % HROUT 39T I gl
In a body, the thermal stress is one which arises because of the existence of

(A) faferse FwAT/Specific heat
(B) ara waurar/Temperature gradient
(C) 7z Fva1/Latent heat

(D) &qet swaAT/Total heat

NT T AIT Fgar &g &F ... &/0Ohms law states that

(A) areear oo arT/Voltage oo Current
(B) ateedr oo 1/am1/Voltageoo 1/Current
(C) 3madet oo drgATA/Volume coTemp

(D) dara&Are oo &RT/Temperature oo Current



13.

14.

15.

16.

g 3T & AT JoAEYAT IUTh SfamsqaT ... & ST g gl
The modulus of elasticity for mild steel is approximately equal to

(A) 80KN/mm?

(B) 120KN/mm?
(C) 160KN/mm?
(D) 210KN/mm?

TRHATV]-hATh Teh HAA foh GedAT H&T Festarel WA & ... &%ed &
Atoms having same atomic number but different mass number is called
(A) 3/Molecules
(B) gATaZd/Isomers
(C) wHere Y@r/Isobar
(D) s#Efas/Isotope

HiT Teh =T JfAEE giFa =gl &/Which one is not a positive locking device

(A) ez arer/Tongued washer

(B) fwier arR «teR/Spring wire lock
(C) feger arer/Spring washer

(D) =igex [a=A/Cotter pin

ufer forey fers # e sropsit & dear & HET ST &l
Number of moles of solute per liter of solution is called

(A) I 3opeRar/Molarity
(B) @i\ 3muradar/Molality
(C) sieterar/Normality

(D) 3107 f&==1/Mole fraction



17.  arST &7 TGdgsT FIAdTel UISUl &l ATYRUT: ....... q ST AT B
Pipes carrying steam are generally made up of .................

(A)zerat ohgr/Cast iron
(B) vef@=ra/Aluminium
(C) ¥ura/Steel

(D) ars=/Copper

18. @ dwc A 3R B ¥AW Yy @ §A0 ¢ §| dve A FT @ dve B § g Bl v A F 9ReTd
ARFA v, g

Two shafts A and B are made of the same material. The diameter of the shaft A is twice that of
shaft B. The power transmitted by the shaft A will be

(A)shaft B & gar=i/Twice of shaft B
(B) shaft B & 3ms ar=A1/Eight times of shaft B

(C)shaft B & =R d[=i1/Four times of shaft B

(D)shaft B & @eig I[T/Sixteen times of shaft B

19.  sFEad & PH oL 2/PH of acid is

(A)7
(B) <7
(C)>7
(D)0

20. U TifAe wos-gd H RAeafai@d FAG ST 3UANET RAT ST
Which of the following spring is used in a mechanical wrist watch

(A) Fsfaret Fdis sare/Helical compression spring
(B) @ffer swam/Spiral spring

(C) afafaer swATei/Bellevile spring

(D) #Er s#ATEA/ Torsion spring



21. @A ¥ A 30T ST S ST 761 &, 39 ... &gl o gl
Water which does not give good lather with soap is called............

(A) 7g Ster/Soft water
(B) #11&r Srer/Heavy water
(C) ®aR srer/Hard water

(D) geanr Stet/Light water

22. UH T Sk A T-3EUS ARG I F AT Ig SR & R FHsfeed @wror gl
To ensure self locking in a screw jack, it is essential that the helix angle is

(A) adofr sior & sier/Smaller than friction angle
(B) a¥ufr wivr & F@aAR/Equal to friction angle
(C) avufr =T & szr/Larger than friction angle
(D) (B) 3k (C) a=i/Both (B)&(C)

23. U& gd HI QAT dI9AT & 1Y ... giar g/Viscosity of a liquid ------- with temperature
(A)afea/increases
(B) 3aRkafda/does not change
(C) gar=m/doubles

(D) =#/decreases

24. fwafaf@a & si9 e uifafead zga §/Which one of the following is a positive drive

(A)#ifaa welc sec grza/Crossed flat belt drive
(B) ¥9 zrsa/Rope drive

(C) dr-sree grga/V-belt drive

(D) @& grsa/Chain drive



25. JerATdr g/Rotameter is a

(A) =X &7 #Td/Variable area meter
(B) =X ¥ &g/ Variable head meter
(C) graraxATd/Manometer
(D) smaafaardy/Inclinometer
26. AT # ¥ Fid THldeIAgThT T & 872

Which one among the following is not an electromagnetic wave
(A) Teg-T/X-ray
(B) 3raxerar foeur/Infrared ray

(C) s fertur/Cathode ray
(D) amAT faor/Gamma ray

27. RO g1 & foT Sl TR .. &/The bending equation for a beam says

(A)Ml/c =y

(B) M/l =E/R
(C)M/1=o0ly
(D)sh/Both b & ¢

28. BRT & aH &1 H@eae & g/Fourier’s law is related to

(A) =rerst/Conduction
(B) dag=1/Convection
(C) faferror/Radiation
(D) 5137 & 15 ot sigi/None of these



(A)10°C
(B) 15°C
(C) 17°C
(D)20°C

30. T A A SgCIeT T 3MMAA....... &/The neutron in an atom has ............

(A) er=trcAeR/Positive

(B) ®umeHer/Negative

(C) 3nifsr &7 & y«IrcAs/Partially positive

(D) si€i/No

31. gl 9gRer & o & dfe g o SR A ..., gl
Ball and roller bearings in comparison with sliding bearings have

(A)wt@er # 3fae wétear/More accuracy in alignment
(B) ®Yer & faar/Small overall dimensions
(C)wa wrfd® T ardr avor/Low starting and running friction
(D) 35 @sii/All of the above

32, ... q STl T IEARAT FORAT DI gerAT AT Tohell g
Temporary hardness of water can be removed by

(A) =Fa¥s1/boiling
(B) 2fraeret/cooling
(C) faezesi/filtration

(D) 3rardrest/sedimentation



33. farAfaf@d # & Hid gyoRIe SgRer §?
Which one of the following is anti-frictionbearing

(A) Sirersaiar/Journal bearing
(B) difsenr sarfier/Pedestal bearing

(C) gSaaiar/Needle bearing
(D) rer s@Rar/Collar bearing

34. WA @ GR YOS AT ... canT fasfda fohar o g
The solar system model of atom is developed by

(A) SifoT stees1/John Dalton
(B) Stat &t#d=A/J] Thomson
(C) werwis/Rutherford

(D) ersa=1ereT/Haisenberg

35, T R & for fse ... 9X f¥eR &xar g/The backlash for spur gears depends on

(A)#Tsgel Ta fo=r ers+ d91/Module and Pitch line velocity
(B) A1z 3reard/Gear ratio

(C) ga uR=afe=h1/Tooth profile

(D) =R &1 uere/Material of gear

36. U WA A 3URYUT FoT Wl g FggleAl hT FEIT FH ... Fed Bl
The total number of protons and neutrons in an atom is called

(A) TAT] shaATR/Atomic number
(B) wars/swdr/Valency
(C) Fateeq @E&ar/Quantum number

(D) gegaTer @&ar/Mass number



37. uw @UUT Setel SR A, AN FSelor & WY HGE HIOT ... gl
In a full journal bearing, the angle of contact of the bearing with the journal is

(A)90°
(B) 0°
(C) 360°
(D) 180°

38. VOIS & @Y HHT Y FAT AT Asfer Fr ITINT g7 hAT ST 87
Why copper piping is never used with acetylene

(A)arma FHradr g/Copper is costly

(B) am 31fa @amr g/Copper is highly corrosive

(C) ammvafeelsr & @y ya3 &9 & fAfkar &3 g/Copper reacts with acetylene violently
(D)3wdea & & &1 & wwgi/None of the above

39.  HURU:, AT H WAV-HAS H qUT & WY WAV s ;L g B
In general, atomic radius ----------- with increase in atomic number in a period

(A) =#/decreases

(B) gef&r/increases

(C) aRkadr=r =1gi/does not change

(D) z=1e1 & 15 o =1§i/None of these

40.  SI9 U A HT 3HH A Teh R IGHT TEIhl AT ST &, o sloe & ... e g
When a nut is tightened by placing a washer below it, the bolt will be subjected to

(A)deteT gfdser/Tensile stress

(B) &dts® wfaser/Compressive stress

(C) 3rawgur yfase/Shear stress

(D) 39w & & 15 o =i€i/None of the above

10



41. it TS 3O G U FAE § dfthel EU-3 g Jored f&affes &, 1 ... &gl S gl
Compound having same molecular formula but different structural formula & properties are called

(A) 3msdrdi=/Isoprene
(B) gHTaTd/Isomers
(C) w#cre Y@r/Isobar
(D) saEafasw/Isotope

42. a & AfT FIT H FAT FgT A ¢, A6l & WS dd F oArd $H AR Folel o1t g2
The angle of inclination of the plane, at which the body begins to move down the plane is called

(A) ador Hror/Angle of friction

(B) a¥ur wror/Angle of repose

(C) wara sro1/Angle of projection

(D) gfa=sse sior/Angle of intersection

43. AT e . g/Methane is an

(A) Temrgrar/Alcohol
(B) 3Far/Acid

(C) tehat/Alkane
(D) tehret/Alkene

44, 3R 1500 N & &g &l IR & & forw 1000N s i TR gidr §, ar T o HT IR Ll
Calculate the mechanical advantage if 1000N force is required to overcome a load of 1500 N
(A)0.66
(B)1.5
(C) 500
(D) 150

11



45.  1ASHII= ------ m/1micron= ------ m

(A) 10
(B) 10”7
(C) 108
(D) 10°

46. ... H 3mATT Sl 3f®sax g §/Size reduction is maximum in

(A) gax Ae/Hammer mill
(B) set& it defera/Blake jaw crusher
(C) =t &t defera/Dodge Jaw crusher
(D) ster fAe/Ball mill
47. QoA & I9ANT BEH @ SEAdTe gF H A ...
The pressure of the liquid flowing through the divergent portion of a venturimeter
(A) R Tgar &/Remains constant
(B) affia gxar g/increases
(C) 5@ & gegAtal ) f¥eR grar g/depends upon mass of liquid
(D) & grar g/decreases

48.  dlEIERIT ... & fore ygea fRar sirar g/Vibroscreen is used for

(A) faeaest/Filtration
(B) 3raarest/Sedimentation
(C) arert/Sieving

(D) areretr fagerwur/sieve analysis

12



50.

51.

52.

SITATAY SAfelehl AT Ace ¥ AT &F ... # foRar e gl
The pressure measured with the help of a piezometer tube is in

(A) N/mm?
(B) za2iy Farg/Head of liquid
(C) urEsrer/Pascal

(D) 39 @ei/all of the above

3Fa +a8/Acid + Base --—»-+------

(A) emr+areit/Alkali + water
(B) saer am/Alkali only
(C) st +uredl/Salt + water

(D) saer arelt/water only

gfe’iar R, IR=SGAT aia%wel A dT @erg | & T ggrdy $r gfaieerdr & ........ & T H IRATNT
fohar ST Eehar 2|
Resistivity of a material of resistance R, cross sectional area A and length | is defined as
(A)RI/A
(B) RA/I
(C) 2RI/A
(D) 2RA/I

forely off few arv aRFEUfd & arg-orer arsd Aser & IURYT ST asT g AT iR Yo aY GegATeT
& AT F ....... Fed ol

Ratio of the mass of water vapor to mass of dry air present in the air- water vapor mixtureunder
any given set of condition is called............

(A) % 3m&a1/% humidity

(B) sifas 3mgar/critical humidity
(C) 3mfars 3mgar/Relative humidity
(D) e 3mgar/Absolute humidity

13



53. U THET AT & FfAe Jol A IYRUT WA T FE&AT ... gl
The number of atoms in a unit cell of a FCC structure is
(A)8
(B)6
(C)4
(D)14

54, gewaATd T AT (HeI3ren) @ HeqaAis ....g/Least count of a (manual) micrometer screw gauge is

(A) 0.1mm
(B) 0.01mm
(©)0.01m
(D) 0.001mm

55. NGHT ST & ... g/Rusting of Iron is

(A) 7ig fafwan/Slow reaction
(B) ga 3ifafsran/Fast reaction
(C) Ster-3rages/Hydrolysis

(D) wEex wdrentor/Ester formation

56. @Wﬁmwwwmaﬁwﬁwmﬁwéﬁmﬁawwnﬁm
3P ... IoTers Bl

S

The property by which a material undergoes slow and permanent deformation when subjected to
constant stress at high temperature for a long time is

(A) sifa/Fatigue
(B) fawrdur/Creep
(C) wcareydr/Elasticity

(D) ufafeafaca/Resilience

14



o7.

58.

59.

60.

JIEEMETT AT JiAT ... g/The unit of kinematic viscosity is

(A)ym/s

(B) m?/kg-s
(C) m-s/kg
(D)m?/s

AT g3T TG ... & &ROT giar &/Green house effect is caused by

(A) HCI
(B) NaOH
(C) CO2
(D) NH3

10MPa...... & @A §/10MPa is equal to

(A) 100 N/mm?

(B) 10 bar

(C) 10 N/mm?

(D)@t (B) a(C)/Both (B) & (C)

fordl a&qg a1 aFg3i & AHOT & ATUATT N TG AT FA B & AU HERTH T F AR

Heat that must be transferred to raise or lower the temperature of a substance or a mixture of
substances is called

(A) Irea eAT/Latent heat

(B) FsArfaarg/Heat flux
(C) saga FwA1/sensible heat
(D) gut 3wAT/Enthalpy

15



61. d1-dec & foT AT HIUT FYUROTA: ........ £/The included angle for V-belt is usually

(A)40° - 60°
(B)20° - 30°
(C)30° - 40°
(D)60° - 80°

62. WW%WWM@N&T&T@@W%W ST STaarelT 35AT Afaaas

Heat exchange equipment employed to meet the latent heat requirement at the bottom of
distillation column is

(A) gefrasn/Chiller

(B) wemiya/Condenser
(C) arfeua/Evaporator
(D) geictaer/Re boiler

63. ST 7 SFAlT T 3YIMT...... & SHROT fohar Srar g/ Teflon is used for bearings because of

(A) feie=t ador aqomeR/Low coefficient of friction
(B) s8R FsAT &17/Better heat dissipation
(C) = St & sT&Ia/Smaller space consideration

(D) 3ud=a @efi/All of the above

64. arfSaT gomelr &1 FHREIT # ... ZaRT aftia R ST T &
The economy of evaporator system can be increased by

(A) a1 fafadaes/Heat exchanger

(B) a'gfqaqﬁr arfeqa/Multiple effect evaporator
(C) fager ¥=1 arisy=/Open pan evaporator

(D) &ifasr arfea=/Horizontal evaporator

16



65. T Ty 9 TEHT ....... & forw foRar Smar g/Hardening on a material is done

(A) 3T arg3it & el g Aeg q==1/To enable it to cut other metals
(B) Sfrofar =t a1/ TO resist wear

(C) &cieT go gJsd 3ugeFd =11/ To make it suitable for cutting tools
(D) 3w gsfi/All of the above

66. mﬁé@rwﬁ%%vwgww ...... gl
Distillation suitable for heat sensitive materials is

(A) Tox 3maast/Flash distillation
(B) Feererarelr 3maast/Azeotropic distillation
(C) #irdrr 3maae/Steam distillation

(D) &xer 3maasr/Simple distillation

67. o 3R A ey 99 ... g/Plate and frame filter press is a

(A) g fee/Pressure filter

(B) faata fseex/Vacuum filter
(C) Tr%ca freex/gravity filter

(D) 39 freex/centrifugal filter

68. 18/8zFara # ... ef#er g/The 18/8 steel contains

(A)18% Ni & 8% Cr
(B) 18% Cr & 8% Ni
(C) 18% Ni & 8% V
(D) 18% V& 8% Cr

17



69.  3ad RO & HiT ¥ T H IPpee I AT 87
Noble gas constitute which group in the periodic table?

(A) 191/Group 1
(B) 7@18/Group 18
(C) 7@12/Group 12

(D) 7197/Group 7

70.  3PR Z=kg/m-s & Tgw T ORUT 27T, N=rpm &sieier &1 391 3IRP=N/mm?#dsafier e, o
SIReT ARG TR TE& .. gl

If Z=Absolute viscosity of the lubricant in kg/m-s, N= speed of journal in rpm and P= bearing
pressure in N/mm?, then bearing characteristic number is

(A)ZPIN
(B) ZN/P
(C)PN/Z
(D)Z/PN

71, #RchE A ffadus & R 100 H7/g6 &1 Aded ... |
According to Indian standard specification 100 H7/g6 means that

(A)FwF & foav Feadr 5 73K B & T 671
Tolerance grade for shaft is 7 and hole is 6
(B) &g & faw @egar 95 73R Fus & AU 68

Tolerance grade for hole is 7 and for shaft is 6
(C)zusr & faw wegar I3 4-6 3R g & fav 5-7 71

Tolerance grade for shaft is 4-6 and for hole is 5-7
(D)% & fow @eadr s 4-6 3R d9% & faw 5-7 &

Tolerance grade for hole is 4-6 and for shaft is 5-7

18



72.  faEfaf@a gfhanit & @ld vk g6 HoRe dishar w6 §?
Which of the following process is not a surface hardening process?

(A) 3rsirerst/Annealing

(B) SRofr &aR=/Induction hardening
(C) wredrentor/Carburizing

(D) argerssaor/Nitriding

73. 9@ AT (3feT) & fow Hia-ar wua @&r ar o/Which statement on brazing is not correct

(A) 3T T3t ST SST ST Hehell
Dissimilar metals can be joined
(B) af#est Teramarer gerdf 1 A SSrS Hevell B
Materials of different thickness cannot be joined
(C) cifera Tfrat & aRTsot & g e AT eser T =781 B

Brazed joints require little or no finishing
(D) wfdeer o aRTEfY 7 wogeawet &1 ciferd faar s wear g

Assemblies can be brazed in a stress free condition

74, s 3YEHT ATH dF #H, 3UEH & Bl 3R 3T & MUR I FATR dol & & &7 IO ... gIam|

In a tool nomenclature, the angle between the face of the tool and a plane parallel to the base of
the tool is

(A)¥ssT ivT/Rake angle
(B) ®de1 @R =ior/Cutting edge angle
(C) 3iaxrer sior/Clearance angle

(D) 3zaraw =ivr/Relief angle

19



75. 3R U Fuh W 10T g &1 efaRiee ae gof anr @ 6 Afeder T o3 T gFa wh
e Y A Hidd fhar e g, o MY FHR aF 3R Y I3 9w F @ A P I gl

If a two start external square thread of 10 mm pitch on a shaft is to be cut using a centre lathe
which has a 6 mm pitch lead screw, then the gear ratio between the head stock spindle and lathe
lead screw is

(A)10/6
(B) 6/10
(C) 20/6
(D) 5/3

76. gAY 9H ... & forw sgeFa fehar Sirar g/A drill press is used for
(A)atrs1/Drilling
(B) f&gur/Boring

(C) fgad=r/Reaming
(D) 3ugea @si/All of the above

77. U @OIfAd I7 T Goll 3189 Y ... g IUANT fRaAT ST 8/A stepped or cone pulley drive is used

(A)=TiereT ueh i feemm Seele

For changing the direction of driven shaft

(B) TRETelT %ueh & FUX AT W TAR—IA Eod W AT FYh HrdaT dgofel

For changing the speed of driven shaft while the driving shaft runs at constant speed
(C) 5y &g 3o1ar

For lifting of heavy loads
(D) =iferd 9 & STl T 7 FTe

For reducing the wear of driven shaft

20



78. 51 orsfeAer & foT yged gerd A fFriaidd AfFeeTor g g
The material used for brake lining should have the following characteristics

(A)3Ta Shoter g3/High wear rate
(B) fa=1 ZsAT 877 at#ar/Low heat dissipation capacity
(C) 3=a Fwar gaR qorish/High coefficient of thermal expansion

(D)3=a Fwar gfakra/High heat resistance

79.  UH AT gk N fARTAT A AT FRE A ... & ¥ H aReia forar = gl
In the design of a machine component, factor of safety is defined as

(A)wrsta foig fdser/3fereqa gfdse/Yield point stress/design stress
(B) 3tfSrshoustr gfdeer/mmsta foig ufdser/Design stress/yield point stress
(C) rsra foig wfdser/=e idser/ Yield point stress/ultimate stress

(D)=# ufager/mrerg ufaser/Ultimate stress/yield stress

80. I AT ........ r f@arg 8/Gun metal is an alloy of

(A)am, g1 (fe=T) 3R FHerirar/Copper, Tin and Manganese

(B) ar&, g1 (feeT) 3R Jare/Copper, Tin and Zinc

(C) amm, Rafemiar 3R #Fehifma/Copper, Silicon and Magnesium
(D)am, g1 (fe=T) 3R wramRa/Copper, Tin and Phosphorous

*khkhkhhkkk
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